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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / '\qzjﬁl' & fry fe # dfdb (HusH)
gare?

1. Short term memory /ﬁﬂ-@?ﬂ:{ F:jﬁf
2. Long term memory / A E] Fﬂﬁ[
3. Sensory register /ﬂ.aa TR

4, Working memory / T Fﬂﬁ[ (dlr;ﬂl ﬁﬁﬁ)

Correct Answer :-

« Short term memory /FI@-W F{ﬁf

2) An anxiety disorder is characterized by :/ fiar faer @1 favivar %:

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Tdh

e 7 Iaford R il fb 3meiest, iffEdar 3k W &t HraHsii &t fIAwdr 31
2. Disordered thinking / ﬁ% LRI

3. An emotional condition classified by excessive checking/ M i g}l d‘ﬁ?d Udh HIIATHD

fufa|
4. An emotional state identified by panic attacks / UfId 3{¢dh P aoIg T U HIaTHS U |

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Tdh

3 a1 Iaford Rufa o fs ameiest, ifRifEaar sk v &t HraHsii &t fawdr 31

3) A devoted teacher would adopt to arouse interest of the learners. /| Th gHfda

Rrere ot Rrendf 9t =y s & fag D YT T
1. Demonstrative methods / EI_Q"QT:T fafdr



2. Innovative methods / ararsy fafer
3. Easy methods / 3T fafer

4, Direct methods / UI& fafer

Correct Answer :-

 Innovative methods / TaraRt fafer

4) variations in social values can be attributed to: / G IENED W i | dqdid G| W m
iR ST &1 9T 3:

1. Reducing inequality / SHHTdT DI HH HIAT
2. Social change / AT aRacdH
3. Social mobility / T TTCTRATeTd

4. Transmission of culture / Wﬁf BT HRT

Correct Answer :-

« Social change / TATRST®S TREH

5) According to the view of , a schema includes both a category of knowledge
and the process of obtaining that knowledge. / & E@H’ﬁm & SR, Th THHT
H 9 @t TP 2oft 3R 39 J1H DI UTWd B D1 ufshar g1 i g

1. Jean Piaget /\_Sﬁ:f RIS

2. Erik Erikson 7 GR® 3BT
3. Jerome Bruner / oI GRS

4, Sigmund Freud / R wios

Correct Answer :-

« Jean Piaget /Gﬁ:fﬁ'ql@f

6) Teachers have to deal with of learners. / ﬁT&Wﬁ' 3| QT&‘IT Af #1 &> 91y
S ST Usar gl

1. Inclusivity / AR
2. Diversity / fafaerar

3. Diverge /ﬁ?l?l:f

4. Giftedness / IR

Correct Answer :-



« Diversity / fafaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child ./

?wwaﬁ%maﬁumﬁam%ﬂﬁ?wﬁﬁ_ A T&¥ gTdT
|

1. to practice similar things again and again / HHIH ISl BT TR-TR T HIA
2. to be more disciplined / 31T¥& \’rla'-‘flﬁﬁ g

3. to do more class work and home work / 3{TY® HeT BT (el dcf?) 3R ‘TG'—W (Eﬁ'q W)
DAl

4. to listen and engage in learning / e | g1 3R LRl

Correct Answer :-

« to listen and engage in learning / 31TERTH A g 3R X &

8) John uses clinical interviews in his class to know the problems of students. This shows his

role as a /Gﬁ%ram=ﬁ$&nﬁ?m‘rﬁmeﬁaﬁﬁﬂﬁﬁ?ﬁmﬁaﬁ$m&m
FISUITHIATE | g SAPI YABTH Ty exifarg!

1. Co-learner/ ﬂ?—ﬁ‘f&ﬂzﬁ

2. Negotiator/aT(_‘IW

3. Classroom researcher / D&l 3D
4. Facilitator / ufRrers

Correct Answer :-

o Classroom researcher / D& 3D

9) Who proposed language and thought to be independent? / = ywarfad foear fos yran
3R foaR WA gl 32

1. Vygotsky / a@ﬂ?ﬂﬁ
2. Piaget / oot

3. Kohler/w
4. Chomsky / AIERDY

Correct Answer :-

o Chomsky / DT



10) Assessment for learning involves / SMfERTH & Sfidad A MAT 8

1. sharing exemplars at different levels of success according to certain criteria / & nl:la'él%

STIR T adl & fAfid TRi IR IEeRUN o HIl Al

2. providing grades or marks against students work/@ﬁ%ﬁﬁ%m%m 3[d UaE
DAl

3. summative use of formative assessment / AT Jj\c'qicb"l BT ANTHD U]

4, use of tests and exams/Qng&fUT @?uﬂ&nww

Correct Answer :-

« sharing exemplars at different levels of success according to certain criteria / P& Ocsl &

STIR Y adT & fAfUH TRT IR 3TN B! I D=l

11) Which of the following is not a teaching skill in inclusive education? frafafead

DI AT Rrem & T Rreor oiwra 981 82
1. Blackboard /@W@f

2. Questioning / Y5 dI®d
3. Problem solving / JHIT JHTYTT

4. Reinforcing / g<e Ul Udcld

Correct Answer :-

« Blackboard / SAElS

12) When children learn to be aggressive because of exposure to violence in media, what type of

learning is being displayed? /\Tq'aérlﬂ%mﬁ%'mé?wfr 3 & BRI THTHP Eﬁ=|T
HiEd g, df fora yoR &1 it yefia giar 82

1. Classical learning / FATRIH A HfTH

2. Media learning / Iﬂ'%tﬂ 3T

3. Exploratory learning / 3ragft sifenmy

4, Observational learning / faeayuTE® SifRTH

Correct Answer :-

 Observational learning / [EEGL IR ERCICIE]

13) Intelligence quotient is / g@ afer %
1. Chronological age/mental age x 100 / IRING Y / qHRIS S x 100



2. Chronological age x 100/ Mental age / RN S x 100 / R S
3. Mental age x 100/ Chronological age/rﬂ:lm ST x 100/ IRIRD S
4, Mental age/ Chronological age x 100 ) AR Sy / IRIRD S x 100

Correct Answer :-

« Mental age/ Chronological age x 100 / HTIIh S / QRN S x 100

14) Learning happens when the child observes someone. This learning is known as ./

eﬁm?aa@m%mwﬁaﬁmﬂﬁmélweﬁwaﬁ & Y H ST
STaT g |

1. Operant conditioning / m Sl
2. Trial and error learning / W-Z% 3T
3. Social learning / TS e

4. Insight learning / GFFE‘:@ IR pess

Correct Answer :-

« Social learning / THTIOIH S{TATH

15) Learners who have an earnest desire for academic competence are said to have a: /fﬁ'[&ﬁ?ﬁ\_rﬁ

e dradr g Ta9 e T=571 TEa §, 3¢ Pl ol 8
1. Performance avoidance orientation/ UG GRGR GWWUT
2. Performance approach orientation/ PENE KRG WUT
3. Work avoidance orientation/ T URER EFEL@WUT

4. Mastery orientation/ HeRd WW\"UT

Correct Answer :-

« Mastery orientation/ HERd S HEIDHRUI

16) Several abilities put together is known as ./ a”_ﬁﬁ &S &1 Uh HIY IdT SITHT
FEAI G|

1. Intelligence / §@
2. Interests / F&Rﬁ

3. Attitude /Iltﬁ?{ﬁ[
4, Personality / Hfada



Correct Answer :-

 Intelligence / @@

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/ HITTH®

faera & Aadiies =R A fraq Su-TRUT gld 32
1. Seven / Td

2. Five /U™

3.Six/ 9:

4. Eight / 311

Correct Answer :-

e Six/9:

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian? /

Fafafad # @ @19 e 72 31 faaevmar 98) 8, foras arar-fuar siftAraeard
TR g2

1. Unfriendly / 3
2. Unsociable / QW

3. Independent / T

4. Withdrawn / \"rﬁﬂj@

Correct Answer :-
« Independent / ¥dH

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-
lasting relationships with adults outside their families through ./ faenera srdew & @1
Hreafie R & g 31 & HIEH ¥ 3T TRART & TMER TP & A1Y dd
HHY T g aTdt R 99 & e A sraeRi 3t srgafa dar gl

1. pleasure and happiness / 31 G 3R @ﬁ
2. hardship and responsibility / m 3R fSrert

3. reading and writing for academic excellence / I CAEC) Sl & m Yol 3R fera

4. independence, peer relationships, and leadership / ST, H‘s’%ﬁfﬂa’ﬂ 3R ef?‘j(‘_q'

Correct Answer :-

 independence, peer relationships, and leadership / ‘&d(‘i?ldl, NEE HTH._Q;?J GﬁT ﬁﬁa



20) John is a student who is naturally aware of his personal emotions, feelings and motivation.
According to Howard Gardner’s Theory of Multiple Intelligences, which of the following intelligence

does he demonstrate?/\_rﬁqug\_rﬁm R Waﬁ,waﬁ? TR 9
HIUTTAS FU T TTd 3| TS SR Dt AR AP A Iud Scloreis (THIUS I &
Rrgia) ¥ UR, 98 g ¥ A f5a gfow &) weRfa sear g2

1. Interpersonal intelligence/ 3{=dX 3 g g‘l'cal-l dl

2. Intrapersonal intelligence/ 3R] 3 gfddeh ‘S?I i:g dl
3. Visual-Spatial intelligence/ TR g@‘ﬁﬁ—ﬂ
4, Naturalistic intelligence/ LI IEED m?ﬂ

Correct Answer :-

)
)

« Intrapersonal intelligence/ 3R] 21 4

21) What is the purpose of learning according to Humanism? / HIHddIdIq & IR ST BT

SR HE?

1. To ace the standardised tests / qﬂ?ﬂ% Qﬁ&‘I'Uﬁ &I Uh =l (Udd) B B f%nq
2. To fulfil one’s potential / Tl 1 &rmrar o1 PR PP ﬁﬂl

3. To become employable / USRS T4 & %I'U,

4. To achieve financial security / [T FRE&T AT & & ferg

Correct Answer :-

« To fulfil one’s potential / fb &l &1 &HT Gal T & & ferg

22) What is the name of the disorder characterized by an inability to carry out basic mathematical

opergtions?/mmmﬁﬁmﬁmwmmﬁﬁmﬁw
HTg?

1. Dyslexia / %@ﬁ{:ﬂﬂ

2. Dysmorphia / %@Tﬁ%&ﬂ

3. Dysgraphia / feTufhan

4, Dyscalculia / M\’rﬂ

Correct Answer :-

+ Dyscalculia / %@mﬂ%\’rﬂ



What animal was used by Thorndike in his experiment relating to operant conditioning? / ?-ﬁ:"?:'lw

ERT fFaTyga e | Saftd Uit # fovd SHaR &1 Ui foear /m 412

1. Rat/dgI
2. Dog / T
3. Cat/ foct

4. Pigeon / X

Correct Answer :-

. Cat/iaﬁn

24) What type of learning did E.L. Thorndike propose? /3‘. Udl. Uﬁw AfFIUPR S
STRATH T YXITd IET?

1. Operant conditioning/m S GELE] (3HTIRT eI
2. Vicarious conditioning / PIGIBIRER \3‘@ g @m Har=If—)
3. Classical conditioning / G G‘Iﬂ_dﬂ:f (W HSIRIHT)

4. Effect conditioning / THTA SFY (SaC DHS )
Correct Answer :-

 Operant conditioning/lra')qw{j\d 3IFYH (&m IR

25) In language development, the structural organization of a sentence is known as WAL %?

e A, v 9T & JTATHSD WS I & Y H JHET A1 2|

1. Phoneme / &f=H (‘EI'ﬂ:hT\ED
2. Syntax / ARG (Ricaw)

3. Pragmatics / JUTHD (Qﬁn%m
4, Morpheme / g (Imﬁﬂ:l)

Correct Answer :-

. Syntax / ATEATGAY (RicHT)

26) Identity versus Role Confusion happens between the ages of / Uedid

9T Yf¥PT YH A F T B
1. Zero to three /'Ql:q @ ?‘ﬂ:f
2. Three to six/?‘ﬂ:f@@_&'



3. Six to eleven / B8 9 RS
4. Twelve to twenty / SR8 I &I

Correct Answer :-

. Twelve to twenty / dRg TS

27) Any change that happens due to is considered as learning. /
& HRUT g ard et oft ufead= 3t Siftrry arT SITaT 81
1. Injury / El[

2. Fatigue / YhI-
3. Maturation / RT&dl
4. Practice / S{WTH

Correct Answer :-

e Practice / {WTH

28) CANCELLED
Nature of children is: / S &1 Wﬁf a?ﬂ' %
1. Destructive /BTﬁW

2. Imitative / W
3. Imaginative / PRI

4. Constructive / XI[HD

Correct Answer :-

o Constructive / 3IIHD

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards

learning?/mﬁﬁwwm&ﬁﬁ%mmﬁ%qﬁﬁﬁmaﬁmﬁ
BT TP Hbd 82

1. Students answering questions in class./ DT D&l AUy BT IS Q% %I

2. Student’s assessment records showing the amount of learning achieved. / €14 Hh - i\Qd;IJSC d"lab

ERT T TS A6 &1 &¥id &
3. Student giving innovative presentation of their work./ ST 30 B &I 3T uﬂﬁ od %|

4. Students doing their homework regularly. / BT FafHd 9 ¥ 30T g™ FR IR & |



Correct Answer :-

o Student giving innovative presentation of their work./ D1 30 HTH P NI mﬁf ad %l

30) Which of the following theorists of child development is not allied to the stimulus response

learning theowlmﬁaﬂ\q%mﬁﬁﬁqmﬁm, R SEI
yfaforar siftrma Risia & daes 18 &:

1. Pavilov/ UTadild

2. J.B.waston / S §ll. GrcH
3. Gesell / Q@

4, Hull / 8

Correct Answer :-

. Gesell / TIOd

Topic:- General English(L1GE)

1) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border wall
using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided not to
resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began to give
way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The border
was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

Looking at it at a macro level, what does the dismantling of the border fence mean to the Palestinians?
1. Getting food and essential supplies for the people for a short period.

2. It adds strength to the Palestinians movement against occupation by the Jewish nation.

3. The ability to drive their vehicles to any place they felt.

4. A sense of freedom.

Correct Answer :-



¢ It adds strength to the Palestinians movement against occupation by the Jewish nation.

2) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border wall
using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided not to
resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began to give
way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The border
was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

Who was instrumental in the break out at Rafah and Al Areesh?
1. Egyptians

2. The people themselves

3. Hamas

4, Israelis

Correct Answer :-

e Hamas

3) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border wall
using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided not to
resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began to give
way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The border
was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

What is the main idea of the passage?

1. The might of Hamas



2. The hospitality of Egypt towards the Israelis
3. Arab Israeli conflict

4. The bursting of the Gaza siege

Correct Answer :-

¢ The bursting of the Gaza siege

4) Read the passage carefully and answer the question given below:

The dismantling of the border fence separating Gaza from Egypt's Sinai Peninsula by Hamas promises to
energize the Palestinian movement against Israeli occupation. Nearly 350,000 hungry and sleep-deprived
Palestinians poured into Egypt on the morning of January 23, once the Hamas cadres breached the border wall
using explosives. Taken aback at the outpouring of humanity from Gaza, Egyptian border guards decided not to
resist the massive cross-border infringement. As parts of the three-km metal and concrete barrier began to give
way, a bulldozer was pressed into service to widen the gap. Soon, cars and heavier vehicles freely moved
towards the Egyptian towns of Rafah and Al Areesh to bring home much-needed essential supplies. The border
was closed after 11 days following talks between Egyptian officials and Hamas leaders.

Embarking on the bold and finely calibrated initiative on January 23, Hamas nullified the Israeli bid to cut off
essential supplies to Gaza by besieging the coastal strip from all sides. It resorted to the move after the
implications of the Israeli siege began to sink in. By nightfall on January 20, there was darkness in Gaza after
Israel stopped fuel supplies for the two turbines at the main power station in the coastal strip.

In the passage, the phrase 7o give way means:
1. to be mended immediately

2. to collapse or fall apart

3. to be dislodged

4. to allow something to happen

Correct Answer :-

¢ to collapse or fall apart

5) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending on
poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four times”
the spending in the last year of the previous government: an exponential increase in nominal terms from around
Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and above the
four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth and
income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained



amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?

How was the government able to enhance government spending on rural development?
1. Through additional revenues due to tax reforms and growth of the economy

2. Through deficit financing

3. By matching outlays and income

4. By borrowing

Correct Answer :-

e Through additional revenues due to tax reforms and growth of the economy

6) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending on
poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four times”
the spending in the last year of the previous government: an exponential increase in nominal terms from around
Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and above the
four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth and
income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?

In the passage, the word amelioration means:
1. advancement

2. digression

3. impediment

4, deterioration

Correct Answer :-

¢ advancement

7) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending on
poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four times”



the spending in the last year of the previous government: an exponential increase in nominal terms from around
Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and above the
four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth and
income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?

In the passage, what is the paradox that the author is trying to address?
1. How are the rich benefiting?

2. The divide between the rich and poor

3. Where is the money going?

4. In spite of enhanced spending, why the vast majority is not being benefited compared to the wealthy?

Correct Answer :-

¢ In spite of enhanced spending, why the vast majority is not being benefited compared to the wealthy?

8) Read the passage carefully and answer the question given below:

Sustained accelerated growth over the last five years or so, combined with major tax reforms, has resulted in a
miraculous augmentation of government revenues. Buoyant revenues have resulted in buoyant spending on the
social sector. In his address to the National Convention, the Prime Minister estimated the increased spending on
poverty alleviation and rural development, including the flagship Bharat Nirman programmes, at “four times”
the spending in the last year of the previous government: an exponential increase in nominal terms from around
Rs.34,000 crore in fiscal 2003-04 to about Rs.1,20,000 crore in the current financial year, over and above the
four-fold increase over the decade 1993-94 and 2003-04 from about Rs.7,600 crore to about Rs.34,000 crore.

Why, then, is there such a mismatch between outlays and outcomes, between growth in the booming wealth and
income of the entrepreneurial classes in contrast to the halting, uncertain, sporadic and un-sustained
amelioration in the condition of the vast majority of Indians? Why is India prospering when most Indians are
not?

What is the main idea of the passage?

1. Inclusive growth of the Indian economy
2. Bharat Nirman Programme

3. Government spending

4. Rural development that focuses on poverty reduction

Correct Answer :-

¢ Inclusive growth of the Indian economy



9) Read the sentence carefully and choose the option that has an error in it:

Only three-fourth of the work are complete.
1. No error

2. Only three-fourths

3. of the work

4. are complete.

Correct Answer :-

e are complete.

10) Fill in the blanks with the correct option in the given sentence:

In a joint state--, the educat-- and culture ministers announced that, from next year, schools will
receive more funding for art lessons.

1. --hood ... --ive
2. --liness ... --ing
3. -ments ... --ing
4. --ment ... —-ion

Correct Answer :-
e --ment... --ion

11) Fill in the blank with the correct option in the given sentence:

In geometry, if you divide a line into two equal parts, you --sect it.
1. bi--

2. tri--

3. viva --

4. di-

Correct Answer :-

e bi--

12) Choose the appropriate tense to fill in the blanks in the given sentence :



He___ me his name, but I now.
1. told, have forgotten

2. told, have forget

3. tells, forgotten

4. tells, had forgot

Correct Answer :-

« told, have forgotten

13) Choose the correct option to complete the sentence.
He received disturbing news.

1. some

2. alittle

3. few

4, little

Correct Answer :-

14) Choose the right tag:

Don't tell Maria, ?
1. are you

2. will you

3. don't you

4. do you

Correct Answer :-

e will you

15) Choose the option that substitutes the given phrase appropriately.
A child who attends a school for very young children

1. Home scholar

2. Day care

3. Kindergartner



4. Hosteller

Correct Answer :-

o Kindergartner

16) Change the given sentence into Indirect Speech:

Ann said to her sister, ‘We better hurry! The film begins in fifteen minutes.’
1. Ann tells her sister that they hurried as the film will begins in fifteen minutes

2. Ann said to her sister that they better hurry as the film begins in fifteen minutes.
3. Ann is telling her sister that they hurry as the film begins in fifteen minutes

4. Ann told her sister that they hurried as the film begins in fifteen minutes.

Correct Answer :-

» Ann said to her sister that they better hurry as the film begins in fifteen minutes.

17) Choose the right tag:

My relatives couldn’t listen me, ?

1. can they
2. could they
3. could they not

4. did they

Correct Answer :-
e could they
18) Choose the appropriate prepositions for the given sentence:

Brasilia was the brainchild Brazil's President Juscelino Kubitschek, who held office
1955 1950.

1. in ...from ..tll
2.in..in ...to
3. of ... from ... to

4. by ... between ... to

Correct Answer :-

e of .. from .. to



19) Choose the appropriate antonym for the highlighted word in the given sentence.

Adolescents are immensely interested in online social networking.
1. extremely

2. essentially

3. richly

4. overly

Correct Answer :-

» essentially

20) Choose the appropriate conjunctions for the given sentence.

Italy France got to the quarter finals last year.

1. If ... then
2. No sooner ... than
3. What with ... and

4, Neither ... nor

Correct Answer :-

e Neither ... nor

21) Choose the appropriate option that rewrites the given sentence in its passive voice.
The workers have painted the main building.

1. The main building has been painted by the workers.

2. The main building is been painted by the workers.

3. Main building was been painted by the workers.

4. Main building has been painted by workers.

Correct Answer :-

« The main building has been painted by the workers.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Mary to a new school next term.

1. going



2. has gone
3. 1s going
4. goes

Correct Answer :-
« is going

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Commuters are worried about the increase in traffic on the highways.
1. Colleagues

2. Daily travellers

3. Guests

4, Communicators

Correct Answer :-

 Daily travellers

24) Choose appropriate articles for the given sentence:

Once __ preserve of ___elite, ___mobile phone is now ubiquitous, as there are millions of subscribers.
1. no article required ... an ... a

2. no article required ... the ... a

3. the ... the ...the

4. the ... an ... the

Correct Answer :-

e the ... the ...the

25) Choose appropriate article for the given sentence:
There was union set up at the place I work.

1. no article

2.a

3. an

4, the



Correct Answer :-
o the

26) Choose an appropriate modal for the given sentence:

You’'re in a hospital. You smoke.
1. couldn’t

2. needn’t

3. can

4, mustn’t

Correct Answer :-

« mustn’t

27) Choose the correct option to fill in the blank in the given sentence:
She --------- a very remarkable discovery.

1. made

2. was made

3. has made

4, is made

Correct Answer :-

28) Choose the most suitable pronoun for the given sentence:
I can’t find my pencil. I’ve lost

1. her

2. them

3. its

4. it

Correct Answer :-



29) Choose the option that best explains the highlighted expression:

If only Kumar doesn't throw his weight around, we can easily complete the project in time.
1. worked less in a group

2. act bossy

3. increased his body weight

4. reduce his weight

Correct Answer :-
e act bossy

30) Which of the following options best combines the given sentences?

The refining of petroleum is complex. It is difficult to understand.

1. The refining of petroleum is too difficult and complex to understand.

2. The refining of petroleum is full of complexity and difficulty to understand.

3. The refining of petroleum is not only complex but also difficult to understand.

4. The refining of petroleum is so complex that it is difficult to understand.

Correct Answer :-

« The refining of petroleum is so complex that it is difficult to understand.

Topic:- General Hindi(L2GH)

1) FI2- ¢ 9 B SelR] BT TGAT?

gySisal i g fafer-= &1 78,

BIeg BT AP P2- oita- &I dH,

frdt w= Sfgferay A fora iy

£ HiT Fidr & Ue UR S8,

|l Hal § fafesr sres &1 %am

&1 o woun w4 o, TamarTdT,

ST I7d # ToId T T@1 HTedl?

SUY T U=l &1 UgPR 19 YD ¢ U PT IWR 9154
WRH- R Ul § B 3 a1 welkia $e1 # SR #t g2
1. AT AT Bt TFISH Bl



2. TP 3OS Y
3. $dl P faama &
4. foferIo S TEA B

Correct Answer :-

o T S Bt AT Y

2) F?2- ¢W 7 Dt SIolR] BT T2
gYFfear .l gg fafewrars &1 e,
Dieg BT AP P2- olta] &I dH,

gt wr sfgferat A fora o

£ Hie Fidar @ Ue uR S8,

@l Hal § fafesr s 1 Ham|

&1 o weun i o1, wAEaTe,

SAfeIT ITd | ITo1d T 5T STelt?

ST U= B UgHR 19 U T Y HT 3T Ia159:
- I B HSUI BT UG S DI SATT 32
1. 3

2. Bl

3. SWIdd g4t

4. Pifda

Correct Answer :-

3) T12- W 7 APl SoiR] BT TGAT?
guBisal wai? gg fafe=r-e &1 718,
Pieg BT TP P2- ofta Bt d,

Y wr sfagferat A ford o

§ Hie Wiwdar o Ue W a1,

Wl BT § (91T 3rhs &1 Ham|
& o woun w9 o), Tamara,
ST XTd | TTo1q T 5T STelt?



SUYH TR BT Ugh -1d T 7T UY BT IR Id183:

- 3 Ufeaa & &1 A f5a H1a &) velfa $31 S SR $t 22
1. Fffean

2. i

3. T

4. PHSRY

Correct Answer :-

o fnaffear

4) T?- ¢W - Bl SSIRI BT T2
guBsal wi? g fafe=r-e &1 78,
Dieg BT AP U2- ot &I dH,

Y uw Sfpferat A fora e

§ AT Tdr & Ue uR S8,

WAl BT § (91T b s BT B
& o woun w9 o), TamardT,
ST ¥Td | TTo1q T 5T STelt?

ST UL H1 UgPh -1 IS T UY T 3<R Ja133:
- 3HS I T = §2

1. SHRUT

2. GAH

3. TTCATDT

4. GDHR

Correct Answer :-

5) F12- ¢W - APl SIoNR| BT TGT?
FUBISAT Fi? g fafe=Ire &1 g,
DIeg BT TND P2- ofta Bt d,

Y wr sfyferat A fora o

£ Hie Fidr @ Ue uR S8,



WTelt BTl § e 3/Ps o1 Hal

&7 o weun ot o), wamare,

ST I A TTeTd &1 8T 3relt?

ST UL &1 Ugh -1 IS T U T I<R Ja133:
- HHUT 70 T IR Ya |1 72

1. fAdg

2. 819

3. QP

4, Xl

Correct Answer :-

gt = erpfera = ford wmAe

£ Hie Fidr @ Ue uR S8,

@l Hal § fafesr s &1 Ham|

&1 o weun i o1, wAEaTe,

SHfeTT ITd | TToId 3T 5T STelt?

ST UL H1 Ugah -1 IS T UY T 3R Ja133:
U - U DT A Hal B Bleg P T B SATaTSl Bl AT 82
1. STTa 3R I $T RS

2. TTH A PIS TN

3. SI1a & TTH $I IRE

4. Sf1a- & SITVRIY B ke

Correct Answer :-

o Sitgq & T &1 TRe

7) H12- 3\ 7 Pl SeiR] PT ITGAT?
gYHISAT 12 Ug fafewr-Ire &1 18,



PIeg BT AP Y2- Siid- DI dI,
Y ur sfayferat A ford o

£ Hie Fiedar @ Ue uR S8,
Q! BT § (91T 3BS BT BT
& o weun w0t o), wamaret,
ST I1d | o191 ¥@1 3ATeAl?
ST TR 1 UgHh -1 I T UY HT 37 Ia133:
USH- HIIA T YIgar 9a1se?

1. IR

2. BT

3. hgeidl

4. FHdGd

Correct Answer :-

§ Hic WiwdT o Ue W a1,

Wl BT § (91T /b s &1 Ham|

&7 o weun ot o, waMare,

ST ITd | TTo1q &1 5T STelt?

ST U B UgH -1 T TT UY HT 37X Ja133:
- Toa &1 A F R

1. 7191

2. &d

3. 3y

4, ddd

Correct Answer :-

. 3



9) F1?- W 7 Bl STk} BT TGI?
gYHfear .l gg fafewrrs &1 e,
Pieg BT TS P2- ofta= Bt a1,

Y ur sfayferat A ford o

£ Hic Wiaar @ Ue ux a8,

QT BT § (91T 3HS BT BT

& o weun = o, waMaTe,
ST I1d | ToId T ¥@1 3ATeAl?

ST TR 1 UgHh -1 I T UY P 37 Ja133:
URH- ‘H 3T BT ygigar 781 32

1. %Y

2. AR

3. TR 5|

4. 38

Correct Answer :-

10) TIT?- ¢ - AHdl Sl RI BT T2
guBsal wai? g fafe=r-e &1 78,
Dieg BT AP U2- ot &I dH,

Y uw Sfpferat A fora e

§ Hie Wiwdar o Ue W a1,

Wl BT § (31T 3rhs &1 Ham|

& o woun 7 o), TamardT,
ST ITd | TTo1q T 5T STelt?

ST U 1 Ugdh -1 T T UY HT 37X Ja133:
UH- U TR 3 | T a1y 82

1. UC &1 AIH

2. UT T TR FavarT

3. ST AP TN

4. Hid uRyd



Correct Answer :-

. HicH URHH

11) F12- GQ 7 APl SiofR] BT Tg-1?
guBisal wai? gg fafe=r-e &1 78,
Dieg BT AP U2- St &I dH,

Y ux Sfpferat A fora e

& Hie Wiear @ Ue uR a8,

Qe Ham § fafesr sres &1 $am

& o woun w9 o9, TamardT,
ST ITd | TToIq &7 5T STelt?

ST UL &1 g -1 IS T U T 3<R Ia133:
- Sfia BT faa wreg 32

1. 3fToidl

2. 3T

3. 3G

4. TRUI

Correct Answer :-

gt = erpfera = fora wmAe

£ Hie Fidr @ Ue UR S8,

@it Hal § fafesr srps 1 %em

&1 o oo i o1, wAMaTe,
ELIRIEICR: RIE CE R RE 1

ST U= B UgH 19 U T ¥Y FT 3T 9159
U= T Ugad e8 3 BT 3 Far g2

1. g3 8fred



2. 971 & HY TR I@! oA dTelt b el
3. 91 § 8 9Tl pic
4. TH @A

Correct Answer :-

. 39 P HY TR AT O T dAh S

13) T12- ¢W T Bl SIOAR] BT TE1?
BYPISTI 12 Ug fafewr e &1 18,
Dieg BT AP P2- olta] &I dH,

gt wr sfgferat A fora o

£ Hie Fidar @ Ue uR S8,

@l Hal § fafesr s &1 Ham|
&1 o weun i o1, wAMare,
SAfeIT ITd | ITo1d T 5T STelt?

ST U= B UgHR 19 U T Y HT 3T Ia159:
UR[H- UBTSTT Bl & forg @ i

1. 3TN0

2. 9YT

3.

4, del

Correct Answer :-

14) T?- ¢W - AHdl SOl RI T T2
guBisal wai? gg fafe=r-e &1 718,
Pieg BT TP P2- ofta Bt d,

Y uw Spferat A fora e

§ Hie Wiwdar o Ue W a1,

@t Hal § fafesr s o1 3am

& o woun 7 o, TamaraT,
ST XTd | TTo1q T 5T STelt?



SUYH TR BT Ugh -1d T 7T UY BT IR Id183:
URME- WRgd Haar & fad ufa smpier uwe farar g2
1. T & gfd

2. SOiRY & ufa

3. fafe=r a9 & ufd

4. Sfta & ufd

Correct Answer :-

. ey o ufa

15) F12- GW 1 APl SiofR] BT TG-1?
guBisal wai? g fafer-s &1 78,
Dieg BT AP U2- St &I dH,

Y uw Srpferat A fora e

& Hie Wiear @ Ue uR a8,

WTelt HeaT § e srws &1 Ha|

& o woun w4 o), wamardT,

SHfeIT ¥Td | TTo1d T I5T STelt?

ST UL H1 UgPh -1 IS T UY T 3<R Ja133:
URME- 98 Hiadl f6a &1a BT ol Hedl 32
1. WIAAR BT

2. fafer 1

3. Gd HTd
4. ed-Td BT

Correct Answer :-

. fofer®m@

16) STHT & IR | I[P BT DIg WS el | o6 T=x BT AT AT 74T 81 STD! SATUT-YUT HT 90 H1 |
AR & ®fa Yo 81| fx ft 98 v # werft-=u 59 dordt ar &1 giar a1 dt 87 9 & 999, 98 "9av
He-gl He A 3iftres 3 =g Ut | 330t e T WeTed St nyfie URd ot TaaTAdr & 3T Frd § 3yt €
STUT A FHIR DT DI TR B3, I 3N AT B G HIP 36 a1 D1 ARG 8 AP 3R 1 T AT
oW BT U A & T §9 Rl R 9T ¥iTg AEIed ¢uTg i off & w31 e & i faeig eram @t
et ft &1 e Fea A 3R F-H W AT ulvw I IR-gad-ARdl-wv FEuA A T3 IR BT
34 forar wed &1 el & g a g3 A oft 3R A1 o1a T+ 1917 ® 3 ol & oy uga A, aaft michsht 3
D! depTd Ugdr forar iR 3@ 3 SRR} &1 ug I far)

SUYH T P TG e TL Y 7 BT IR Ia1g9:



- Hd foraeT quie #vd T8 ¥ §2
1. b BT

2. IGHT BT

3. BT

4. §EHfd &I

Correct Answer :-

17) 3P & IR B Y6 BT BIs WIS el [P T BT A1 AT 7497 81 STBT STHT-UHT HT qui e |
TR & Bfa ¥ A8 | b= ot e Hed ° Sail- v 59 doRdl aR &I gi+=ar a1 ai O 9 & 909, 93 9av
H2a) 6 A aifire 3 e U | 3Rt ARE WIS WeTa oft smyfie Wk 95t TadET ¥ IuT Hre § o F @
STYT T THR SATHTR DI ST Fv, 3T 3R AT B T HP Ieh dX DI a8 81 SATD 3 g1 T¢I JaT
y¥ BT U A & Y 59 4Rl R 9 I9Ta AETed ouTg i off & w31 e & i faeig oA @t
et oft 1 g B ® iR Fht-Fft s ufvmy 3Fd iR-aed ARdftEar FFu A TR A I TR BT
3y forar e A1 iehioh & fore 3 g @ oft 3iftres A1 5@ I 1917 & 3 ishoh & wrg uga A, aoff wiefioh 3
IID! aenTd Ugar o 3R ST U STRITUBRI $T Ug I far|

S TR B Ughx -9 Y& T Uy BT ITR gaT33:
TH- M F TS FTH A2

1. G2ffe e

2. TTH A DI gt

3. HgTed ¢S

4, < Tidt

Correct Answer :-

. TgIed ¢S

18) SATHT & AR} | I[P BT DIg Sits el | b T=5 BT AT AT 741 81 STD! SATUT-YHT HT Ui H1 |
AR & Bfd Y& A8 | fpr ot e Hed ° Sail-u 59 doRdl aR &I gi+=ar a1 af O 9 & 96Y, 93 9av
He-gl g { 3iftrer 3 1Y urd | 3t R WIS HeTea ot anyfe YRa ot Tadzar & I Fra A v =t €
STUT A FHIR THT B TR v, 3 3R g1 &) gref H3F Y6 ai 31 avg 8 S-S 3R gl T AT
o BT YT B & I 59 eRelt R o wanifa wgrea 3arg ieh oft & w1 s & ot g omom &t
e <ft &1 g Fe A iR Fii-w et srueT ufvey 39 dR-aradf-firdl-w F Fu A A A 3 iRa @1
3T forar wed &1 Mol & g a g & oft 3 &1 1@ |+ 1917 W 3 ol & ury ugw A, @it michsht 3
ITP! dpTd UgaT= T 3R I 3ruq ITRIFUSRY &1 ue Hiy faari

IUE TRIIRT B UGHR -9 U T U HT IR 9a133:
TH- 95 ST ardt 82
1. J[ep

2. XS
3. gt



4, dR7

Correct Answer :-

19) SMTHT & R | Y6 BT Bl s Aal| P T BT AT T 7T g1 SHBT STUT-UHT HT gl He &
AR & Ffa Y& 811 bR 1t Fer vea ¥ Farit-&u 59 dodt ar &1 gf+ar a1 at 8 9 & 999, 98 "9av
-3 6 @ arftrep 3@ 7Y ura | 3 R TS HETda ot eTyfie HRd Pt TdzdT b SUT BTd | 0 Gt &
STYT T THR SATHTR DI ST Fv, 3T 3N AT B G HIP 6 aX DI a8 81 AP 3 g1 Y| JaT
o BT 9T H & 1T 39 Reft R 9 wrifa werea dar i Sft & W= A1 e & o e sR wt
Tieh St @7 g FEa A 3R F-H W sruAr ufvey 3% dR-aeH - Airdtar FFuA A A I TR B
ST forar wed &1 el & fog o g & ot i &1 1@ |+ 1917 # 3 ol & ury ugd 2, @it michsh 3
I depTd UgaT forar 3R I 3ruA STRIRISGRY &1 U Iy faari

IUYe TRIR Y USHR 19 IR 7Y UY BT IR Id133:
UR- AT, HETH Wi & A2

1. G

2. UTS

3. HAl

4, 9d]

Correct Answer :-

20) 3MTHTRI & dRI T o6 FT DIg oS 8| P I5 BT AT T 79T 81 SABT STUT-UHT T qui e |
AR & $fa Y& 811 R ft Fer vea ¥ Farit-Fu 59 ddt aR &1 gi+ar a1 dt 8 9 & 999, 9 "9av
He-qY ve | 3iftre 3@ 1) ura | 33t avg WIS "ETed Sft SnyYfHe YR B! T & I F1a | 3= 3=
STYT T THR SATHTR DI ST Fv, 3T 3R AT B T HIP 56 aX DI a8 81 A 3 g1 T¢I JaT
y¥ BT UTeE A & Y $9 Rl R 9T W99 AETed ouTg i off & w31 e & i fadig oA @t
et oft @1 g wea ® iR Fh-F Il erue ufvmy 3Fd iR-aed ARdftEar FFuA TR A I TR BT
Y4 fpar o &1 mieheh & frg a g3 F off aiftre A1 579 99 1917 & 3 Tidhsht & o ug= A, aaft widhsht 3
ID! denTd UgaT o 3R ST U STRITUBRI $T Ug I far|

ST T B UghR -9 YD T Uy BT ITR Ja133:
WA WIAdT BT [TaTH 2eg T 82

1. foren

2. Heldl

3. ol

4, QR

Correct Answer :-



21) SATHI & dRI | Ysh DT HIg wIlg ol | b I BT AT HHT T 31 SHBI STHT-YHT BT 90 HA |
TR & Bid Y& A8 | fbr o e Hed ° Sail-u 59 dodl aR &I gi+=ar a1 af O 9 & 90Y, 93 9av
T3l 62 @ it 3 e w1 g AR WTE WeTa off amyfie MR 35 TadEdT & S e F oo S &
STUT A FHIR THT B TR B, 3 3R g1 &) grey H3% b a3 avg 8§ S-S 3R 1 T 4T
oW BT U A & T §9 Rl R 9 ¥iTg AEIed oATg i off & w31 e & dia faeig erom @t
et oft &1 g B ® ok Fft-Fft sroe uftmy SFd iR-aed ARdter FFu A R A I TR BT
YT fpar wed &1 Mol & g a g & +ft aiftre &1 59 9 1917 ® 3 st & o uga A, aaft widhsh A
IS AT UgaT fordm 3R IT&! 3y STRINISRY &1 U Ty faar|

IUY T T B UGHR A9 YD T U BT SO gaT5d:
wA- T Sft 7 fFd SromT SRS = Ut
1. 39GNH

2. X[Ha

3. HgTed ¢S

4. gRama

Correct Answer :-

. TgIed ¢S

22) STHTN & ARI B Y[H BT I3 S A8l | Yob T T AT AT 74T 81 STPT SATUT-YHT FT Ui H1 |
TR & Bfd Y& A8 | v ot e Hed d Sail-u 59 doRdl aR &I gi+=ar a1 al U 9 & 96y, 93 9av
2.3 02 afie 3@ E U | Rt TR Wi WeIda oft anyfie R 951 XaaT ¥ 39T e § o R @
STUT A FHIR TP B TR v, 3 3R g1 &) g 3% 36 ai 31 avg 8§ S-S 3R gl T 4T
oW BT UT A & T §9 Rl R 9 Witg AEIed ¢uTg i off & w31 e & i faeig erom @t
et oft &1 g Fea ® iR Fft-Fft srue uftmy SFd MR- ARdfter FFu A R A I TR BT
3 forar s &1 el & g a g A oft 3R A1 o1 T+ 1917 ® 3 Tiefish & oy ug= A, @i midisht 3
D! depTd Ugdr forar 3R 3@ v SRR} &1 ug I far)

ST TR Y USHR ) U T Uy o1 IR Ja1sd:
- b dRT {6y god fms aar @2

1. 9 3R HR A1 &

2. Had MM & g9

3. Had HR

4. 3T A IS T8I

Correct Answer :-

. MR HUR AT H

23) STHTN & AR B I[H BT I3 S el | Ioh T T ATN T 74T 81 STDT SATUT-THT FT Ui H1 |
AR & ®fa Y& 61| bR it 78 vea ¥ werit-=u 59 dordt ar &1 giar a1 dt 3 I & 99y, 99 "9av
-3 e & 3iftre 3@ ) urd | S0 TRE TS WeTda o Syfe HRd BT weTar & I Fra § 30 I §
STUT A FHIR THT BT TR B, 3 3R g1 31 G $3F 6 a1 D1 avg 8 SAHS 3R g1 T 4T
o BT 9T H & T 39 Rt R 9 wrifa werea dar it Sft & w3 A1 e & ot e sR it
TR <t &1 gwTer T A iR Fii-w et s ufvey 399 dR-aad - ARdl-wr F Fu A A A 3 iRa BT



34 fHar Hd A1 wiehsht & forg 9 g3 9 ot 8iferes &1 &9 | 1917 ¥ 9 idhisht & Ut uga 4, aWt widish =
I dhTdl UgdT fordT 3R S9! U ITRIRISRY &7 U 1Y faam|

ST TR B Ugh -9 U T Uy BT ITR JaT33:
WA- g $1 3 a1 g 82

L. i

2. |l

3. qolge
4, HIfCTH

Correct Answer :-

24) 3MTHTRI & dRI T eh FT D15 SIS gt | b g5 ST ATt AT TAT 81 STBT ATUT-JUT BT qui H |
AR & ®fa Y& 811 R ft Fer vea ¥ Fait-Fu 59 dodt aR &1 gi~ar a1 dt 3 9 & 999, 98 "9av
He-qY ve A 3iftre 3@ ) ura | 33t avg WIS "eTed oft SnyfHe YR o} WA & IW F1a | = A=
STYT T THR SATHTR DI ST Fv, 37 3R AT B e HIP Y6 aX DI a8 81 AP 3 g1 T¢I JaT
y¥ BT UTeE XA & Y $9 Rl R 9 919 AETed ouTg i off & #AAt A1 e & i faeig eroe @t
et oft @1 g weq ® iR FIft-F Il erue ufvay 3Fd iR-aEd ARdftEar FFuA [ A I TR BT
YT fFar o &1 miehoh F g d g A oft eiftre &1 59 9 1917 ® 3 ihoft & ury ug= A, aaft wishsht A
D) IPHTd Ugar fordm 3R I 3y STRIRISRY &7 ug Ty faar|

ST T B Ugh? -9 U T Uy BT ITR gaT33:
- YRgd e § 4gTed &1 IuHT frad a1y 91 718 872

1.
2.d%
3. F&A
4, ATDhIR

Correct Answer :-

25) 3MTHTRI & dRI H o6 HT DIy oS ot | b g5 BT A1 T 7971 § 1 SABT STHI-UHT T qui e |
TR & Bfd Y& A8 | fp= ot e Hed ° Sail- v 59 dodl aR &I gi+=ar a1 ai U 9 & 90Y, 98 9av
T3l 62 @ oiftre 3@ TE U | g AR W1 WeTa off amyfie R 35 TadEdT & S Fra F oo Fi &
STUT A FHIR THT B TR B, 3 3R a1 &) gre 3% b ai 31 avg 8 SaHS 3R g1 T 4T
o7 BT U A & T §9 Rl R 9 Witg AEIed ouTg i ot & w31 e & i faeig eram @t
et oft &1 g B ® ok Fit-Fft s ufmy 3Fd iR-aed ARdftar FFu A T A I TR BT
YT fpar wed &1 Mol & g a g & oft oiftre &1 519 9 1917 ® 3 st & o uga Q, aaft widsh A
D! denTd Ugar o 3R ST S STRIUBRI HT Ug I far|

IUY T T B UGh A9 YD T U BT SO gaT5d:
- STaH &1 1 H1d a1 82



1. S &
PARCIGIRSEIGH

3. Hal B Ul g

4. fRaTe-forare g

Correct Answer :-

ERCICICEIC]

26) SMTHTRI & dRI H o6 HT DIy oS ot | YH I5 BT AT AT 7971 § 1 SABT STHT-UHT HT qui e |
TR & Bid Y& A8 | fbr o e Hed ° Sail-u 59 doRdl aR &I gi+=ar a1 af O 9 & 90Y, 93 9av
23 02 afie 3@ TE U | Rt wRE WS WRIda oft anyfie R 951 XadeT ¥ I e F o R @
STUT A FHIR THT B TR B, 3 3R g1 &) grer H3d b ai 31 avg 8§ 3D 3R 1 T A4
oW BT UT A & T §9 Rl R 9 ¥itg AEIed ¢uTg i off & w31 e & i fadig eram @t
et oft &1 g Fea ® ok Fft-wft s uftmy S iR-aed ARdfter FFu A R A I TR BT
YT fpar wed &1 Mol & g a g 9 +ft aiftre &1 59 9 1917 ® 3 st & o uga Q, aaft widsh A
D! depTd Ugdr forar 3R 3@ 3 SRR} &7 ug I far)

IR TR B USHR 1 UD T Uy o1 I<R Ta13d:

w=A- A& 12 fou e fawenl & @ frwer watuardt @2
1. G BT

2. Yob &1

3. SIEITUS BT

4. AR &1

Correct Answer :-

. dRIDT

27) TS & dRI B I[H BT I3 S el | Yoh T T ATN T 74T 81 STDT SATUT-YHT FT Ui H1 |
AR & ®fa Y& 61| fx ft Far vea ¥ werfl-=u 59 doidt ar &1 giar a1 dt 37 A & 99, 99 "9av
He-g) 6/ ol 3w e U | 3Rt avE WS Werda oht Snyfie WRd 95t TadET ¥ IuT BT & o ah @
STUT A FHIR THT BT TR B, 3 3R g1 &) G $3F 6 aiX D1 avg 8 3D 3R g1 T 4T
o BT 9T H & T 39 Rt R 9 wrifa werea dar it Sft & W=t A1 e & ot e sR it
et sft &1 g Fed ® o Fft-wft sroe ufmy SFd iR ARdtEr FFu A R A I TR BT
3T forar s &1 el & g 3 g3 & ot 3R A1 o1 |+ 1917 ® 3 wiehish & urg uga 3, @it midish |
ID! depTd Ugar forar 3R 3@ S SRR} &1 ug I far|

IR TR Y UgHR - UD T U o1 I<R Ja1sd:
W= - {5 AR 1 B Wi e R2

1. b

2. XM

3.9%

4. gewfa



Correct Answer :-

28) SMTHTRI & ARI T [eh HT DIg oS gt | XP T5 ST A1 T 79T § | SHDBT STHT-UUT HT qui e |
AR & $fa Y& 81| R ft Fer vea ¥ Farit-=u 59 doidt ar &1 gi+ar a1 dt 8 9 & 99, 98 "9av
He-qY v | 3iftre 3@ ) ura | 33t avg WIS "eTed oft SnyfAe YR o1 T & I F1a | 3= 3=
STYT T THR SATHTR DI ST Fv, 3T 3N GFAT B T FIP Y6 aX DI a8 81 AP 3 g1 T¢I JaT
¥ T UTae P F fore 39 eRl R o ity werda 39rg wieht off & W A s & = faie A Y
et oft @1 g Feq # iR Fh-F Il erue ufvay SFd iR-aEd ARdftEar FFuA TR A I TR BT
3gYa fFar o &1 mieheh & e d g1 @ i eiftre A1 579 99 1917 & 3 Tidhsht & Ui uga A, aaft widhsht 3
D) IPTd Ugar fordm 3R I 3y STRIRISRY &1 ug Ty faar|

SU e T B UghR 19 YD T UY BT 3T Ja133:
W= - HgTea oft, et ot & oy Ha e A2
1.1915

2. 1916

3.1917

4. 1912

Correct Answer :-

» 1917

29) 3MTHTRI & dRI T o6 HT DIy oS ot | B I5 BT AT T 79T § 1 SABT STHT-UHT T qui e |
TR & Bfa Y& A8 | fbr ot e Hed ° Saril- v 59 dodl aR &1 gi+=ar a1 ai O 9 & 969, 93 9av
He-gY He | 3iftres 3@ 181 urd | 33t avg WIS "eTed Sft SnyYfHe URd Bt Tdaa1 & I F1a | S+ A=
STUT A FHIR THT B TR v, 3 3R a1 &) gre 3% b ai 31 avg 8 S-S 3R 1 T AT
o BT U A & T 39 Rl R 9 ¥ita AEIed ouTg i it & w31 e & i faeig erom @t
e oft &1 g wea ® iR Fft-Fft s ufvmy SFd iR-aed ARdfter FFu A R A I TR BT
YT far wed &1 miedhsh & g 3 g & off aiftres A1 579 97 1917 & 3 widhisht & ur uga Q, aaft widish A
ID! denTd UgaT o 3R ST U STRITUBRI HT Ug I far|

IUY T T B UGh A9 YD T U BT SO 9aT5d:
U - HETEd ¢HTS Sft T o+ {51 HIROUN A §3IT UT?
1. ST 9 & fo

2. Jar 4if & forw

3. 3% B & fog

4, HA 91 & foru

Correct Answer :-

. a1 et 3 g



STHT & ART H Yeh BT DIs IS Aol | Yeb I DT ATU AT AT 3 | DT STHT-YHT BT G0 B H TAR
& Bfd Y 78| bR Wt Fem dea | Farit-=u 59 dord! A &I gi=ar a1 al U M & JHY, TS Ja¥ ge-gl
e ¥ aftre 3@ 7Y | 52t TR WIS HeTd oft STy YR Y IadadT $ ST Hrer A U At &Y s
A THR SATHTRN I S B, 3 3R AT B e b Yop R D1 avE 81 SAIh 37 gt M| Jar ovf o1
e PR & AT 39 et I o Tty weeE qurs i ot & w5t &) e & e famlg oraa @t el oft
P g Fed A R Ft-Fft o ufteg 3999 dR-amadf-Ridl-ww & T A 39 § 3 7ika 371 sgua
oo va A1 Tiehoh & g @ g & ot 3if¥res &1 519 9 1917 ® @ wTielie & oy ugd &, it midsh A et
qehTe g foram 3R 3! 3y SRR &7 ug Ty faar|

ITa T ) TGP - I T UY BT IR 9aq133:

TRH- "STHT & IR | Ieh BT BIS IS Aol | S g T 32

1. Ih

2. 98

3. dRI

4, AP

Correct Answer :-

Topic:- Science (SCI)

1) Why are large poultry farms constructed? /
93 $aPc B &1 (wtor 41 far wirar 82
1. To raise broilers for chicken meat in large numbers. /
T A1 & g 31fiie TReam | Siiger &1 g1a- 84|
2. All the above facts . /
SR I+t 7
3. To develop very good hatchery for egg layers, in large numbers. /

IS GBI H 37T 37 U SER R 1 o B & ol

4. There is low maintenance requirement for developing poultry. /

PP U b fahr o feTl (9 TER@IT B! SHTaGhdl 5 |

Correct Answer :-
o All the above facts . /

SWRIgd gt a1

2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the
total mass of it is 88 amu, what are the masses of Fe and S? /



Tfe STIRA ATHIZS (FeS) H TR (Fe) 3R AW (S) b I STHTH BT U 7:4 B
3R SHPT T SHHT 88 URHTY HEfd AHAD (amu) T, Tl Fe 3R S & SHA R 2

1. Fe = 74amu & S =14 amu
2.Fe =72amu & S =16 amu
3. Fe = 56amu & S =32 amu

4, Fe = 50amu & S =38 amu

Correct Answer :-

e Fe=56amu & S =32amu

3) Written examination is a/an of evaluation. / fufaa 1TI'\P[&IT, H?TIW | Th
_ =l

1. implementation / CARIEpE]
2. System / GUITet

3. function /W

4. technique / SERIG]

Correct Answer :-

* technique / GERIG]

4) To have a productive and engaging science learning experience, for children
and adults alike, they can conduct small experiments with guided instructions, like
identifying rock specimens, watch insect metamorphosis, demonstrate chemistry

reactions, etc. This method involves? /ﬁaﬁ?m%m, Udh JdUIgdh 3R
Yeig fagm iR &1 sqya g1 & forg, 3 R e & ary sk
WART BT JATA B APd g, W AP YAl DI Ugd= HA1, Bl
PTATARUT ST, T rfufsharsii &1 wefia &<, anfe | g fafu &
TS T 82

1. Science Kits / [a3H fobe

2. Research Laboratory Experiments / W?ﬂ:{ UINTRITAT UaT
3. Observatories / a’?R]TEITﬁ

4. Peer-to-Peer Teaching / TeHHI-O-TgHHT fR1&01

Correct Answer :-

« Science Kits / ﬁ?ﬂ:[ fbe



5) In the winter season, two thin blankets placed one over the other are better than a single
blanket of same thickness because: /

Afeal & TRI9 ¥, G Uad $ad TP ga & SHUR TW 91d 3, i 3 ?iers ard U
$d J g gid & Hlifb:
1. The air in between the two layers will absorb more heat energy from the atmosphere /

&l IRl & &9 $1 g1 agHSA A U SCAT ol Bl AR B |

2. The air in between the two layer acts as a conductor /

3l Rd & &1 DI §91 T TATEH & U | B Bl g |
3. The air in between the two layers acts as an insulator /
& TRdl & o1 Bt g1 U [aHdTed &1 HIH Bl ¢

4. Thick blanket absorbs more heat energy from our body /

e Had gHAR IRR Y 3P qTT FHoll bI TG A |

Correct Answer :-

« The air in between the two layers acts as an insulator /

3 IRl & d1F &1 gaT U fadargs &1 HTH Hal g

6) What happens when a body covers 2m in every one second along a circular path? /
gfe Tw e, TUreR U4 IR Ud$ Advs A 2 Hiex B gt a9 $Hvar 8,91 71 g1 82

1. The body has non-uniform speed. / T Bt I TR-THH %I

2. The body has uniform velocity. /WW%W%I

3. The motion is called non-uniform circular motion. / T &1 TR-TH JATHR 7T FHeT oIl 5|

4. The motion is called uniform circular motion. /‘Tﬁfﬁ Uh JHIT PR Tfd h ol Sldl %I

Correct Answer :-

o The motion is called uniform circular motion. /‘Tﬁfﬁ U JHIT ddlpR iG] hol Sldl %I

7) The physical quantity which has the unit N/m?2 is: /
mﬁmmﬁwﬁw@ N/m2 g g :

1. Force / dd1

2. Density / 9-dd

3. Acceleration / dXU[



4, Pressure / ¢dId

Correct Answer :-

e Pressure / qdld

8) Sign langue is developed for: /
Ticsfae HTuT fA= 3 A frae fore fasfya &t 1.

1. The mentally retarded children / RIS ¥ ﬁ OPJ-I\TI\N GIUC?[%%TQ

2. The people with impaired hearing/aﬁ

3. The children with high 1Q / 30 §f< SUTIdT dTd §di & g
4. The blind people / 3

Correct Answer :-

« The people with impaired hearing/ag?{

9) lodine test is conducted for detecting: / IUIEIE] giterur feaeT UdT T & ﬁﬂ! fear
AT &:

1. Starch / @9

2. Sugar / HIT

3. Protein / méH
4. Glucose / Wﬁﬁﬁ

Correct Answer :-

« Starch /Eﬁf

10) What are the two necessary conditions to be satisfied to say that work is done? /
g $g1 & e f6 &l Wua 81 g1 8, S Saas e 1 82
1. Initially the body should be at rest and there should be an expenditure of energy. /

3RH # e ! fagma=un & 81 =1t 3R Suif &1 oag g1 I

2. There should be a force acting on the body and there should be a displacement in the direction
of the body. /

YT R 9@ HRRG 811 91T 3R e ot fewn # fawimom g1 =
3. There should be a displacement for the body and there should be an expenditure of energy. /

o o1 fawuTue 811 TR 3R SHoll &1 0d BT T8 Tl




4. A force should act on the body and there should be an expenditure of energy. /

TS g0 MPTI TR BRI BT IT 3R Frull BT 0 gIHT AR T

Correct Answer :-

» There should be a force acting on the body and there should be a displacement in the direction
of the body. /

rr R 9 SRR g1 A1feT 3iR e &) feen & fawirg= g anfgul

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5
hours? /

wﬁﬁgﬁwmmmmowmm%lsﬁﬁﬁwﬁnﬁmﬁﬁw
T ERI?

1.1.8x 107
2.1.8x103)
3.1.8x10°)
4.1.8x10°)

Correct Answer :-

. 1.8x107)

12) In a lake, Maria swims 60m in half minute and returns to the starting point along the same
path in another half minute. Find her average speed and average velocity./

U sita A, 71T 3 e A 60 Hiex avdl @ oiR o= 3 fiee § St At @ ey
fig W e 3t 81 ST 3ita nifd SR 3fira a7 91 B

1.2m/s & 0 m/s / 2 Hicx/Ads 3R 0 Hiex/Ads
2.2m/s & 12 m/s / 2 Hex/AHS 3R / 2 Hiex/Ads
3.0m/s & 2m/s / 0 Hiey/Ads 3R 2 Hiex/Ads
4.12m/s & 2 m/s / 12 TeR/AHS 3R 2 Hey/AHs

Correct Answer :-

e 2m/s & 0 m/s /2 Hiex/Abs 3R 0 Hex/Abs

13) The period of a pendulum at a place depends on the: /

ot R W tep Ugaw @1 sraftr 59 R Ak welt 8:



1. Mass and length of the pendulum /

UgAH BT SoqHM 3R ddls
2. Mass and acceleration due to gravity at that place /
I I R B YUT & HRUT GHHM 3R =0T
3. Length of the pendulum and acceleration due to gravity at that place /
I WM R [SdlbY0T & SR G 3R Rl F deTg
4. Length of the pendulum and shape of the bob /
Fgam & da IR e B Sl
Correct Answer :-

« Length of the pendulum and acceleration due to gravity at that place /

IY VM W oAb YUT &b HRU UgerH 3R R BT TfaTs

14) Which of the following is not an example for the potential energy? /

fFrafafaq 7 @ w1 fRufas et o1 T IeEIu 781 82

1. Energy possessed by a body inside a flying air craft. / Udh 653 Sdlsr NS & 3 wﬁm
Q'RTEITETEG”I

2. Energy possessed by a body placed at a height. / Tdh 3 Ellé R W e griurd S|

3. Energy possessed by a compressed spring. /wﬁdﬂ%aaﬁuﬁmw S|

4. Energy possessed by a person lying on the ground. /WW@%E’QW Hfad gRT uTd Sl

Correct Answer :-

« Energy possessed by a person lying on the ground. /WW@%@QW Hfad gRT Ut Sl |

15) In which of the following media, the speed of sound is maximum? /
fFrafafaa & & fra arew 4, wfy 3t vfa siftreaw @i 22

1. Water / oI

2. Aluminium /Wﬁ'ﬂﬁ

3. Air /dlg
4, Oxygen / KGR

Correct Answer :-

+ Aluminium /Q?}[‘Fﬂﬁ'qtf



16) Muddy water can be purified by /

Ufhd T I sHP gRI Y5 (5T oI IPHal
1. Loading / Al

2. Threshing / Il?ﬂ'sf

3. Sieving / dlcl

4. Winnowing / 3

Correct Answer :-

» Loading / cIqld

17) In the case of semiconductors, as the temperature increases, the resistivity ./

e & A #, S-S 99 ST 8, UfeRiuddr |
1. increases / 9l &

2. decreases / H BIdl &

3. becomes zero / I B Il &

4. remains constant / @R ?E?ﬁ %

Correct Answer :-

« decreases / PH Eﬁ?ﬂ %

18) Select the correct statement from the following: /

Fafafea 4 @ aft s T ot

1. Unlike charges attract / faudta smowr st wvd %I
2. Unlike charges repel / foudia emaw ufap g wd %I
3. Like charges attract / qH T BT HRd %I

4. Charges on a body cannot be discharged / Udb d¥] UX JURYT 3TATN BT ﬁé@q '_‘lglf foar o
o gl

Correct Answer :-

o Unlike charges attract / Ut 3 T ivd Hd %I

19) A screw gauge with nil zero correction gives the following reading when used to measure
the diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions.



Given that Imm on main scale corresponds to 100 divisions of the head scale. The diameter
of wire from the above data is: /

YA GUR T TP TP 7191 TP dR & o419 I AU & g ST & a o1 R
Frafefaa Sf$w ¢ar 81 e wrue {fEw = o firndt sk 8 vrue Hf$n = 52 @1 e
w%@%wwm1ﬁ1ﬁ,%@rw$ 100 TSl & Y | IURIG ST | dR &1
Y 5:

1.0.0052 cm / 0.0052 Tt
2.0.052 cm / 0.052 4t
3.0.26 cm / 0.26 I
4.0.52 cm / 0.52 94t

Correct Answer :-

. 0.052 cm/0.052 THY

20) Identify the acid present in red ants? /
AT difedl H IUFRUT 3t o1 Ugdr B2
1. Malic acid. / Higd ¥

2. Oxalic acid. / 3TpIfcTdH 3T

3. Tannic acid. / f& 3

4. Formic acid. / BITH® 3

Correct Answer :-

« Formic acid. / tIO—I'V% H+T

21) Identify the reaction/s in which physical state of a substance does not change during a
chemical change. /

39 ffrar &) v, frad e Tramafae uitads & k= sl uerd &t wifas
fRufa 78t eadt 2|

1. All of these / SUad T+t
2. Water is subjected to electrolysis to form hydrogen and oxygen /

BRSO 3R SfiaiIo - & forg Ut &1 fagyd-srae fasa Srar @
3. Mercuric oxide is heated strongly to from mercury metal and oxygen /

ORI ¢Tq 3R SHfiiTor 91 & o IREgRe® ffaarge &1 yadar 3 T 6T Sl §

4. Magnesium ribbon is burnt in air to form magnesium oxide /




AR siiaarss M & forw AWy eq &1 ga1 ¥ STarr Sdar g8

Correct Answer :-

« Magnesium ribbon is burnt in air to form magnesium oxide /

IR sifaarss 991 & foru AvifRm Rew &1 g1 & S siar g

22) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /

% T & SU $ 3MgfT 100 8 1 o HUA Bt 3afy g:
1.0.1s/0.1 9bg

2.0.01s/0.01 YbS

3.10s / 10 Ybs

4.100s / 100 YhS

Correct Answer :-

. 0.01s/0.01 TP

23) The trophic level of secondary carnivores is /

gifas ATATET &1 wivur W @
1. Third / TIRIRT

2. Second / g

3. Fourth / T

4. Fifth / OT=al

Correct Answer :-

« Fourth / AT

24) The pressure excreted by the liquid at the bottom of a vessel depends on : /

TS I & del IR aRel gRT AT 7491 419 59 W R dar g:

1. Total area of the base of the vessel / i & dd &1 Pdl A% |

2. Height of the liquid column present in the vessel / o H IR R WY T I=IdH dd|
3. Inner surface area of the vessel containing liquid / dX¢f Yad CRREAREINIRED Uy &l

4. Shape of the vessel / S BT PR |

Correct Answer :-



+ Height of the liquid column present in the vessel / a9 ¥ UMY dRa WY DT Iy da|

25) Neutral compound/compounds among the following: /
e o Seriia e / diftrel 3t uga Fifve:

(i) CO, (ii) CO (iii) H,O (iv) CaO

1. (i) and (i) / (i) 3R (ii)

2. (ii) and (iii) / (ii) 3R (i)

3. (ii) only / P94 (ii)

4. (i), (ii) and (iv) / (i), (ii) 3R (iv)

Correct Answer :-

« (ii) and (iii) / (ii) 3R (i)

26) Four identical vessels painted with four different colors are filled with water at 90°C.
Which of the vessel will have the least rate of cooling? /

TR JH UTH TR ST 3N | 3 g 7 8ii¥ 90° IfRmaw arqu= & urit & W g3 21 frw
U ¥ ad e B &R o gnfe

1. Vessel painted with red / ATl T SR g3 uA
2. Vessel painted with green / Bi' LUK kUl SIRCIE
3. Vessel painted with black / BTel T 1§31 U

4. Vessel painted with white / g 1Y g3 U

Correct Answer :-

« Vessel painted with white / Tt 3T Y 3T g3 U

27) Which among the following is a monobasic acid? /

fFrafafad o ¥ w1 ve AR s 82
1. C,H,40,

2. H,CO;

3. H3PO,

4, H3PO3

Correct Answer :-



28) Which one of the following is not an alloy of Iron? /
fFrafafaa # @« e &1 v fgurg T8 22

1. Solder. / TIeaR

2. Stainless steel. / Y WK Id

3. Alnico. / w
4. Nichrome. / isp1H

Correct Answer :-

. Solder. / i@

29) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.
ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.
iv. They do not accumulate in nature. /

Srotafdieoiiy SRy & IR A 19 A YT T8 82
1. 9T 914 fAffa g 21

ii. d Y& oital g1 fFiea f5a o 994 &1

iii faoT srtaf~ e iy Srafkry @re gaer # ya=r #3d § 3k o9 smat= #vd &1
iv. d Upf H Tfra 81 gid |

1. i andiii /i 3 iii

2.iandii/i 3 ii

3. i and iv / iii 3R iv

4.ji and iv / i 3R iv

Correct Answer :-

e iandiii /i 3R i

30) Which of the following elements show malleability? /
frafafea # & o191 a@ smaraad-iaar feamar g2
1. Phosphorous / TIEh R

2. Todine / 3T



3. Sulphur / Heh}
4. Zinc / N6

Correct Answer :-

. Zinc/m

31) World Environment Day is celebrated on? / ﬁ%’ ggiaor ﬁﬁ'\q hd HATIT
ST 82

1. May 5 /5 9%

2. June 5 /59

3. September 15 / 15 fRrder
4. April 27 / 27 3UA

Correct Answer :-

« June 5 /591

32) Which physical property of Aluminium metal makes it possible for us to
make Aluminium foils to wrap chocolates, toffees and medicinal tablets? /

Ty u1g & fra Wifae qured & SR e ST U Aidde, erwt iR
Stwda Ml & Tegfafay ust smarur & dR R HR urd 82

1. Malleability. / fraraas=taarn

2. Good electrical conduction. / [dggd B! el

3. Good thermal conduction. / 3SHT 1 FaTcTehd]
4. Ductility. / d=d1

Correct Answer :-

- Malleability. / STerdaeiadm

33) Which of the following statements represents the science manipulative skills

of a student? / U & | B9 I HY9 U B & AT & Uga-g
PIvd (Ayafed ) &1 ufaf iR $3ar 82

1. The student can differentiate between two related concepts. / ST3 &l gafd
SAYRUNST & S 3R B IHal 5|




2. The student can design a new experiment. / ST Udh Y[ TN Ir:"a'\rlls'-l h¥ Jhd]

gl

3. The student respects his/her science teachers. / 9T 3T i.aill"l fQT&‘I &1 BT JHM
GRS

4. The student uses the equipment in the lab within their limitations. / BT 30t T3 o
TEHR YA | ISR BT IUANT Rl g

Correct Answer :-

. The student uses the equipment in the lab within their limitations. / BT (gt Tar3f &
TEHR YANTRITE H IUHROT BT JUURT T g

34) Out of the following options, choose the incorrect statement? / ﬁ"ilﬁ‘l@?f

el A A, 3RIT HYH BT I PRY|

1. Inductive method of teaching is a constructivist model of teaching. / fRremor o1
3THA fafey, RIef0r &1 (b T Aied ¢

2. Inductive method of teaching is more student-oriented. / fRrefor &t A fafdr
3fIH BA-IIT ¢

3. Discovery learning theory promotes autonomy in learner. / 30T 3T Rigid,
3T Al H TOTadl &) §¢IaT ST g |

4. Deductive method of teaching progresses from a specific concept to the general. /

fRreor 3t fA fafY, v fafRy srauron @ g & 3R Fgdt g

Correct Answer :-

« Deductive method of teaching progresses from a specific concept to the general. /

fRreor &} fmee f3fY, v fafy SrayrRunm @ I\ ot 3R st g

35) Write the given four colours in the ascending order of their wave length?
Yellow, Red, Green And Violet /

fu T AR Nl 3t IFH AT el & SER IR wH ¥ R

1. Violet, Green, Yellow, Red /a'TFﬁ, Bxl, T-ﬂ?ﬂ, NG

2. Yellow, Red, Violet, Green /tﬂF’IT, dld, %’mﬁ, Bl

3. Green, Yellow, Red, Violet / @XI, tﬂ?ﬂ, dTd, STt

4. Violet , Yellow, Red, Green / SR, Wiall, &1, &1



Correct Answer :-

« Violet, Green, Yellow, Red /é’Tr«ﬁ, Bxl, tﬂ?ﬂ, NG

36) The SI unit of power of a lens is: /

TP a9 3 e &1 T30S, TP 8:
1. Watt / dTC

2. Dioptre / ST

3. Joule/second / Ja/AdHS

4. Joule / 9

Correct Answer :-

« Dioptre / SR

37) What are the food requirements of dairy animals? / ST q'QIGﬁ & Yo Bt
STTYH AT T 82
1. Mixed feed containing dry grass, grams and other roughages. /
T 9, T 31R 37 HIC IR § WiRd o 1y |
2. Nutritious feed with additives. /
geieh] & T1Y H I Hisd|
3. Fresh green grass. /
1Tl 831 9T |
4, The feed should include roughages and concentrates in balanced amounts. /
sy # HieT IRT IURYd BT AeT 3R Hferd 71 H ig g1 =1fg Ul
Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts. /

IS § HieT IRT SUfRYd 811 1T SR Tferd A # 9ig g1 a1t

38) The intensity of the sound is related to:/
af &} doar suw Fefia 2
1. Amplitude / 3TITH

2. Frequency/xﬂ'l@ﬁ‘[



3. Pitch /ﬁ?[
4. Wavelength /T‘R_‘T%‘t‘ﬁ

Correct Answer :-

o Amplitude / 3TITH

39) For which liquid/fluid in the body are the below mentioned features applicable?
« Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.
IR A fr ga/ava verd & o - Sfeafaa fagivant ey 8t 82

. T HIAH § SR ufeang gidt 7

- gerd #i [ ©u # IRR & T 5 F gav YT o ugamn o g1

1. Blood / Y&

2. Water / SId

3. Sugar solution / It &1 O

4. Salt solution / TIGUT BT T

Correct Answer :-

o Water / oI

40) Rishi is open-minded but believes every theory put forward to him by his friends but
rejects theories of his teachers. This primarily shows a lack of: / a;f@r Gﬁ-ﬁiﬂﬁ Gl %
AP a8 ITF Il GRT IS THE IQ g Risid S Aa1 § Afb 3= g &
Rrgial #) SRdieR FRaT 81 98 g U A @t HHI B g=Itar 2

1. Respect for evidence / HI&J & 1%112 HHTT
2. Scepticism / GRIIATG

3. Prejudice / Q\Eﬁ'ﬂg

4. Objectivity / FTST&rT
Correct Answer :-

. Objectivity / FST&T

41) The commonly found fish thatis a surface feeder is /

TG Y § UTE o1 arelt aSdl sifd U U H4Re (Y Wis) &



1. Catla. / hddT

2. Mrigals. / HITcll
3. Rohu. /ﬁ_{{

4. Common carp. / 9HI ST

Correct Answer :-

o Catla./oddl

42) The electrical device used to measure the current through an electric circuit is: /
fagygq aivuy & Areny | fagyq &1 ATA & e IuahT ¥ arn 9= arar fagygd Suwor gian &:
1. Voltmeter / AlceHIeR

2. Electroscope / ﬁ?{gﬂﬂl’ﬁ

3. Ammeter / 3{THIER

4. Galvanometer / Tled-IHIeR

Correct Answer :-

e Ammeter /GHIHE?

43) The electronic configuration of an element is 2,8,1. The number of electrons that
possess the least energy /

ot 9@ @1 s faarT 2,8,1 81 TH sl @t I o d g-aw ol gid! &:
1.2

2.0
3.1

4.8

Correct Answer :-

44) CANCELLED

The effect of milk of magnesia on turmeric solution is: /
T & U W AHRMT F gY BT UHTT Tg g 3:

1. Yellow colour of turmeric solution first changes to pink then becomes colourless /

a1 P! ged] o1 °1dt gl el ST & Sed Sl §, YT STe - 8l oiidl g |



2. Yellow colour of turmeric solution changes to blue colour /
Uiel ¥ 1 ged] 1 Uid =iiel W1 H e Sl g

3. Yellow colour of turmeric solution changes to reddish brown colour /
did T D! et 1 U WY I H gad ol 5|

4. No effect /

PIs YT -Tgl

Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

did T D! geat T U WY I H gad ol 5|

45) CANCELLED

Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
gfe Ga1d 250Pa § 1 .08m2 B Tdg IR SR YUIG Y J1d HH |
1. 200N

2.31.25N

3.3125N

4. 20N

Correct Answer :-

« 20N

46) Which of the following method will be ideal for laboratory work in a class of 50

students? ; FFEfIRaa & @ o1 Al faf¥r 50 =1 Tl v Fanm & IR & o1d &
forg szt g

1. All of the students work on the same equipment at the same time. / Tl &3 T& &t
I TR T &t SYPRV R B Hd 3|

2. Students are divided into groups and different experiments are performed by each

batch in a cyclic manner. / BT & JHE! & v frar Srar 8 8k Ud® o9 gRT U
I b ¥ fafte v iy o g

3. Students are divided into groups and the same experiment is performed by each batch.

/ B ) gt H fauifora fsar e 8 SR U 99 gRT US &) TN fasan i B

4. Only teacher demonstrates the experiment in front of the whole class. / PHad e g
TS} Fef & I TN YR HRar g



Correct Answer :-

« Students are divided into groups and different experiments are performed by each
batch in a cyclic manner. / I & Wg! & fAHTRTT faan ST § 8k U 99 gRI Ud
T Wb 4 fafid 7T fe 9 B

47) Identify an atom with no neutrons from the following. /
fFrafafad # @ Yl te R $t ugaH S35

1. Helium / giferad

2. Tritium / fefeaq

3. Protium / UICIaH

4. Lithium / fofdas

Correct Answer :-

« Protium /Wy

48) A small fire in the laboratory due to sodium can be put out by: / qfsTA &
BRI TH TIRTRITET H T aTeil T SISt Al ST B 395 §RT JHT ol GPHdl &

1. Using water / UMl & gRI
2. Using dry sand / Wiﬁ & GRI
3. Using moist soil / i) &I@%“&"RT

4. Using CO, based extinguisher / CO, TUTRA UMHS & IUANT GRI

Correct Answer :-

« Using dry sand / Wiﬁ & GRI

49) Collaborative learning approach develops which of the following skills in a
learner? / GEANTE® ST @ I0T I Riemf & Fafeafea & @ f5a i o1
Ao gl 82

1. Social and Academic skills / GTHTSIG 3‘ﬁ? ﬁ&lﬁ@ ﬁ"x’lﬂ

2. Critical thinking skills / 7T fid ®Iera

3. Relationship among concepts / S/GURUNSN & & JaY

4. Interpretational skills / HTRHTHD PHIR



Correct Answer :-

. Social and Academic skills / grHTToTH GﬁT ﬁ&fm ﬁ"x’lﬁ

50) Identify the human practice that results in soil pollution. /

T UdT foraraery foRrds g ger uguur giar 8, 39%1 uga # |
1. Deforestation / G I-I@ |

2. Dumping of sewage into water bodies / SId el & 7 s
3. Use of large amounts of fertilizers and pesticides / ST AT H IR 3R BIcATIh] BT SUTNT|
4. Vehicular traffic / HICI UG |

Correct Answer :-

« Use of large amounts of fertilizers and pesticides / a1 | H IdReh! 3R BIeTRID! BT ITANT

51) Name the animal or product which does not provide vitamin D. /
I U T STG BT W Fa18 ot faeriq €1 ueH T8l #ear gl

1. Fish / A4l |

2. Eggs/ 33|

3. Pork / 3R BT AN |

4. Cow’s milk / 7Y pT ¥ |

Correct Answer :-

« Pork / 3R BT HY|

52) A student is able to fix a focal length measuring apparatus despite
notreading about it as a problem on his laboratory manual. This shows the
useof which dimension of the cognitive process? / Tdh BT Th Bipd Flil'l'é' HTUA
& IUPHIV I 31 P § &H § Tad 39 TATRIAT A3 W TP 0T & &9 §
9% IR U T8l U1l g JFHTHS UishaT & {5y Smard & SUANT &1 gITdr 82

1. Knowledge / 31

2. Applying / G'IHEI'CnT[

3. Evaluating / JcdTdh] B

4. Creating / fafor B

Correct Answer :-



. Applying / 3V

53) Which of the following statements does NOT distinguish hypothesesfrom

theories in science? / fFafaRad & @ &9 91 $44, fag@ & Rrgial @ uReca-msi
P AT E] BT 872

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory
power. / TREGEITY THAR TR AR H 3UeTdHd Th1vl il 5; RiGid # oI
AR T giet 8|

2. Hypotheses and theories are essentially the same thing. / BIRCI Rl 3R Rrgia
3 U 4 TS g A 5 |

3. Hypotheses are guesses; | theories are widely accepted ‘correct’ answers./
URehed-Ty S{JHIA % Rigid 0% 0 ¥ Fal' 3R WIHR ICAYSIN %I

4. Theories are hypotheses that have been proved. / BiFARSICAY IQObcLHIQ % o R
Hiecard
Correct Answer :-

« Hypotheses and theories are essentially the same thing. / UWT\Q’ 3R Rigid
3{fFaTd =1 9 U gt i B

54) Which of the following can provide a non-formal learning experience
tostudents? / Fafefaa & & 19 o & R-situ=aiRe AR v U™ &
TP 82

1. Summer holiday written assignments / THf Bt Q'@Th o fear o a1 ferRaa

2. Multiple choice question based test in class / P&l | a@%ﬁt{ PERCICIIRS
LRil

3. Science clubs /ﬁ?ﬂq aold
4. Conducting experiments in the laboratory / TIRTRITAT H TN &1 e

Correct Answer :-

. Science clubs / ﬁ?ﬂq ENEI

55) ¢Child-centred’ pedagogy means: / qTd-bfga’ FRIemmRd &1 3 8:



1. Teacher dictating the children what should be done / fR1&/ S Dl 3T ad & fb
ERINCRISIE IS

2. The teacher leading the learning in the classroom / TRI&f® & T SffrrH & spyoft

YfteT AuTaT g |

3. Children are active participants in their own education and development / CE|

30 e iR fawrg o iy wrfier Au[ 21

4. Children follow a prescribed information / | Uh Fuid STHHRT &1 uTe
A G|

Correct Answer :-

« Children are active participants in their own education and development / |

3ot e R faeprg o wfehy HRftar) AT &1
56) Burning sensation in stomachisdueto_____ ./ Uc # ST BT BRI - %:
1. Indigestion / U
2. thirst / Y
3. digestion / UTdH
4. Hunger / 9

Correct Answer :-

« Indigestion / Ul

57) What is the natural habitat of Cactus?/
P BT UTpIdD M T 82

1. desert / XA

2. clayey land / gftioT YW

3. Water / oId]

4. Land / 31[&[

Correct Answer :-

o desert /W’H



Which of the following statements does not follow the scientific method? /

frafeafad & @ o9 91 FYF e ugfa &1 ure 8] ST 82

1. Da Vinci’s art should be costlier than Michelangelo’s art. / Gl fdt &t e

AIghadoiel Bl Hell J Tl gl ANl

2. The heliocentric model should replace the geocentric model of the solar system. /
T ot Rigid (@feraif< e Afed) &I R Ul & Y-Alsd &l Ufawitiid
61 =T

3. Einstein’s theory of relativity triumphs over Newton’s theory of gravitation. /
TSR & FTUedl & RIGId, e & Teai®yul & Rgid W oo e #vd
g

4. Photosynthesis produces more oxygen than respiration. / UhTR] W, 4T
3Hfere SHTeriIeT BT ITG PRl 6 |

Correct Answer :-

« Da Vinci’s art should be costlier than Michelangelo’s art. / Gl fd=dt 1 el

ARG AUl bl Hdl J HgIN gHT AT |

59) Identify the substance which can be easily compressed by applying pressure on it. /

SqTd STABY IRAdT I GPpiad 6 o G+ a1 ugrd &t ugaH ae|
1. Ice. / §%

2. Carbon dioxide gas. / BT SIS T

3. Sugar crystals. / TTHR] fhed

4. Water. / SIdd

Correct Answer :-

« Carbon dioxide gas. / PHTe 3133{\@133 bIE:|

60) Which of the following is not an example of ICT resources? / TUfeIRad A DA
TSI HATLH BT TP IAMERV el &2

1. Social networking website / AT Aeafd aw

2. Science blog / ﬁfﬂq OTQ'I'T"T

3. Science magazine / ﬁs'ﬂ:f Uﬁw

4. Podcast / UTSBHRE



Correct Answer :-

« Science magazine / ICRIGRIEE



